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Phys 221 (Section 6)
Quiz #4

1. A 2.0 kg mass moves in Lthe +x direction with a speed

of 3.0™ . It makes a glancing collision with a stationary
50 kg mass; after the collision the 2.0 kg mass has a speed 3.6 3.0%
; uﬂ.

of 1.0% and moves in a direction 115" from the = axis.
a) Find the z and y velocity components of the 5.0 kg mass

alter Lthe collsion.
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) How much kinetic energy was lost in the collision?
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2. A wheel with an initial angular velocily of 20 "f-' slows
to n halt with a constant angular aceeleration of —1).60 "—.‘,‘d_

a) How leng does it take Lo stop?
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b} Mow many revolutions does it make in stopping?
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b} Find the velocity of Lthe center of mass. ; 15®
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